
HOMEWORK for VERIFYING INVERSES with COMPOSITION of FUNCTIONS 

Prove that the two equations are inverses of each other by using composition of functions. 

 

1) 𝑓(𝑥) = 7𝑥 − 10                             

 𝑔(𝑥) =  
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      𝑔(𝑓(𝑥)) =    
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2) 𝑓(𝑥) =
2

3
𝑥 + 12                                                           

 𝑔(𝑥) =  
3𝑥

2
− 18        𝑔(𝑓(𝑥)) = 

 
                𝑓(𝑔(𝑥)) =                          
 
 
 
 
 
 
 
 

3) 𝑓(𝑥) =
3(𝑥−5)

4
                                                          

  𝑔(𝑥) =  
4𝑥

3
+ 5      𝑔(𝑓(𝑥)) = 

 
    𝑓(𝑔(𝑥)) =                        
 
 
 
 
 
 
 
 

4)   𝑓(𝑥) = (𝑥 + 8)2   

 𝑔(𝑥) =  ±√𝑥 − 8        𝑔(𝑓(𝑥)) 
 
       𝑓(𝑔(𝑥)) 
 
 
 
 
 
 

 



5) 𝑓(𝑥) = 3𝑥2 − 6   

 𝑔(𝑥) =  ±√
𝑥+6

3
        𝑔(𝑓(𝑥)) = 

 
                     𝑓(𝑔(𝑥))=                         
 
 
 
 
 
 
 
 
 

6) 𝑓(𝑥) = 5(𝑥 + 7)3                                                           

 𝑔(𝑥) =  √
𝑥

5

3
− 7        𝑔(𝑓(𝑥)) = 

 

         𝑓(𝑔(𝑥)) =  

 
 
 
 
 
 
 
 
 

7) 𝑓(𝑥) = √
−𝑥+1

2

3
                                                           

 𝑔(𝑥) =  −2𝑥3 + 1        𝑔(𝑓(𝑥)) = 

 

         𝑓(𝑔(𝑥)) =  

 
 
 
 
 
 
 

 

                     

  


